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29.How many pairs of letters are there in the word “SPARKLE” which has as many letters 
between them as we have in the English alphabetical series (from both forward and 
backward direction)? 
शब्द "स्पार्क ल" में अक्षर ों रे् ऐसे कर्तने ज डे हैं कजनरे् बीच उतने ही अक्षर हैं कजतने कर् अोंगे्रजी
वर्कमाला श्रोंखला में (आगे और पीछे द न ों कदशाओों से) हैं?

(a)One 
(b) None 
(c) Two 
(d) Three 
(e) More than three
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30. Which of the following is second letter from the left end of the meaningful word formed 
by the 1st,3rd, 5th, and 6th letter of the word “DRAWER” If more than one word is formed 
mark X as your answer. If no such word is formed mark Y as your answer? 
कनम्नकलखखत में से र्ौन सा शब्द “DRAWER” रे् पहले, तीसरे, 5वें और छठे अक्षर से बने अर्कपूर्क

शब्द रे् बाएों छ र से दूसरा अक्षर है यकद एर् से अकिर् शब्द बनते हैं त X र् अपने उत्तर रे्

रूप में कचकित र्रें। यकद ऐसा र् ई शब्द नही ों बनता है त Y र् अपना उत्तर दें?

(a)R 
(b) D 
(c) E 
(d) X 
(e) Y
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Study the following information carefully and answer the questions given below: 
Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one above the another but not necessarily in the same 
order. Three boxes are placed between M and T. M is placed either at the top most or bottom most 
position. Box O is placed just above to the box N. Box S is placed just below to the box T. There are two 
boxes placed between R and S. Not more than two boxes placed between M and R. More than three boxes 
placed between O and P.

कनम्नकलखखत जानर्ारी र्ा ध्यानपूवकर् अध्ययन र्रें और नीचे कदए गए प्रश् ों रे् उत्तर दें:
आठ किबे्ब अर्ाकत M, N, O, P, Q, R, S और T र् एर् रे् ऊपर एर् रखा गया है लेकर्न आवश्यर् नही ों इसी क्रम

में ह । M और T रे् बीच तीन बॉक्स रखे गए हैं। M र् या त सबसे ऊपर या सबसे कनचले स्र्ान पर रखा गया

है। बॉक्स O र् बॉक्स N रे् ठीर् ऊपर रखा गया है। बॉक्स S र् बॉक्स T रे् ठीर् नीचे रखा गया है। R और S रे्
बीच द बॉक्स रखे गए हैं। M और R रे् बीच द से अकिर् बॉक्स नही ों रखे गए हैं। O और P रे् बीच तीन से

अकिर् बॉक्स रखे गए हैं।
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Study the following information carefully 
and answer the questions given below: 
Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes 
are placed between M and T. M is placed 
either at the top most or bottom most 
position. Box O is placed just above to the 
box N. Box S is placed just below to the 
box T. There are two boxes placed 
between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
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31.Which of the following box is placed third from 
the bottom? 
कनम्नकलखखत में से र्ौन सा किब्बा नीचे से तीसरे स्र्ान

पर रखा गया है?

(a) S (b) Q (c) O (d) R (e) None of these

32.How many boxes are placed between O and Q? 
O और Q रे् मध्य कर्तने किबे्ब रखे गए हैं?

(a) None (b) One (c) Four (d) 
Two (e) None of these

33.The number of boxes placed between P and S is 
same as the number of boxes placed between ___ 
and R? 
P और S रे् बीच रखे गए बक्स ों र्ी सोंख्या ___ और R 
रे् बीच रखे गए बक्स ों र्ी सोंख्या रे् समान है?

(a) M (b) Q (c) N (d) T (e) O
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34.The number of boxes placed above of the box O is same as the 
number of boxes placed below to the box? 
बॉक्स O रे् ऊपर रखे गए बॉक्स र्ी सोंख्या बॉक्स रे् नीचे रखे गए बॉक्स

र्ी सोंख्या रे् समान है?

(a) R (b) Q (c) P (d) T (e) None of these

35.Four of the following five are alike in a certain way and hence they 
form a group. Which one of the following does not belong to that 
group? 
कनम्नकलखखत पाोंच में से चार एर् कनकित तरीरे् से समान हैं और इसकलए वे

एर् समूह बनाते हैं। कनम्नकलखखत में से र्ौन सा उस समूह से सोंबोंकित नही ों
है?

(a)M and Q (b) P and T (c) R and S (d) Q and O (e) N and Q
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7 people P, Q, R, S, T, V, and W give a test 
starting from Monday to Sunday. 4 people 
give the test between R and S. P gives the test 
on Wednesday. No person gives the test 
between P and Q. There are 3 people who 
give the test between T and V. T gives the test 
before V. W does not give the test on Sunday. 
At least 2 people give the test before S.

7 ल ग P, Q, R, S, T, V और W स मवार से

रकववार तर् एर् परीक्षा देते हैं। R और S 
रे् बीच 4 व्यखि परीक्षा देते हैं। P बुिवार

र् परीक्षा देता है। P और Q रे् बीच में

र् ई भी व्यखि टेस्ट नही ों देता है। T और

V रे् बीच में 3 ल ग टेस्ट देते हैं। T, V से
पहले टेस्ट देता है। W रकववार र् टेस्ट

नही ों देता है। S से पहले र्म से र्म 2 
ल ग टेस्ट देते हैं।
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7 people P, Q, R, S, T, V, and W give a test 
starting from Monday to Sunday. 4 people 
give the test between R and S. P gives the test 
on Wednesday. No person gives the test 
between P and Q. There are 3 people who 
give the test between T and V. T gives the test 
before V. W does not give the test on Sunday. 
At least 2 people give the test before S.
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How many people attempt the test after R? 
A. 1 B. 5 C. 3 D. 4 E. None

Who gives the test on Sunday? 
A. P B. R C. S D. Q E. V

Which of the following statement is false? 
A. Q gives the test on Thursday. 
B. P gives the test before S. 
C. Three people give the test between W and R. 
D. V gives the test after S. 
E. All of the above are false.

W gives the test in which of the following days? 
A. Monday B. Tuesday C. Thursday D. Friday E. Saturday
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How many pairs of letters are there in the word UNSETTLED, each of which has as many 
letters between (in both forward and backward direction) them in the word as they have 
between them in the English alphabet? 

शब्द UNSETTLED में अक्षर ों रे् ऐसे कर्तने ज डे हैं, कजनमें से प्रते्यर् रे् बीच उतने ही अक्षर हैं

(आगे और पीछे द न ों कदशाओों में) कजतने कर् अोंगे्रजी वर्कमाला में उनरे् बीच हैं?

A. One B. Two C. Three D. More than three E. None
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Twelve people are sitting in two parallel rows 
containing six people each, in such a way that there 
is an equal distance between adjacent persons. In 
row-1 A, B, C, D, E and F are seated and all of them 
are facing south. In row-2 P, Q, R, S, T and V are 
seated and all of them are facing north. Therefore, 
in the given seating arrangement each member 
seated in a row faces another member of the other 
row. V sits third to the right of S. S faces F and F 
does not sit at any of the extreme ends of the line. 
D sits third to the right of C. R faces C. The one who 
is facing E sits third to the right of P. B and P do not 
sit at the extreme ends of the line. T is not an 
immediate neighbour of V and A is not an 
immediate neighbour of C. R does not sit at the 
extreme end.

बारह व्यखि द समानाोंतर पोंखिय ोंमें प्रते्यर् में छह

व्यखि इस प्रर्ार बैठे हैं कर् आसन्न व्यखिय ों रे्

बीच समान दूरी है। पोंखि-1 में A, B, C, D, E और F 
बैठे हैं और उन सभी र्ा मुख दकक्षर् र्ी ओर है।

पोंखि-2 में P, Q, R, S, T और V बैठे हैं और उन सभी

र्ा मुख उत्तर र्ी ओर है। इसकलए, दी गई बैठर्

व्यवस्र्ा में एर् पोंखि में बैठे प्रते्यर् सदस्य र्ा मुख

दूसरी पोंखि रे् अन्य सदस्य र्ी ओर है। V, S रे् दायें

से तीसरे स्र्ान पर बैठा है। S र्ा मुख F र्ी ओर है

और F, पोंखि रे् कर्सी भी अोंकतम छ र पर नही ों बैठा

है। D, C रे् दायें से तीसरे स्र्ान पर बैठा है। R र्ा

मुख C र्ी ओर है। वह कजसर्ा मुख E र्ी ओर है, 
वह P रे् दायें से तीसरे स्र्ान पर बैठा है। B और P 
पोंखि रे् अोंकतम छ र पर नही ों बैठे हैं। T, V र्ा

कनर्टतम पि सी नही ों है और A, C र्ा कनर्टतम

पि सी नही ों है. R अोंकतम छ र पर नही ों बैठा है.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Twelve people are sitting in two parallel rows 
containing six people each, in such a way that 
there is an equal distance between adjacent 
persons. In row-1 A, B, C, D, E and F are seated 
and all of them are facing south. In row-2 P, Q, 
R, S, T and V are seated and all of them are 
facing north. Therefore, in the given seating 
arrangement each member seated in a row 
faces another member of the other row. V sits 
third to the right of S. S faces F and F does not 
sit at any of the extreme ends of the line. D sits 
third to the right of C. R faces C. The one who 
is facing E sits third to the right of P. B and P do 
not sit at the extreme ends of the line. T is not 
an immediate neighbour of V and A is not an 
immediate neighbour of C. R does not sit at 
the extreme end.
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Who amongst the following faces D? 
A. T B. P C. Q D. R E. None of these

Who amongst the following represent the people sitting at 
the extreme ends of the rows? 
A. R, F B. T, A C. D, R D. C, Q E. S, A 

Four of the following five are alike in a certain way and 
thus form a group. Which is the one that does not belong 
to that group? 
A. B-T B. A-Q C. C-S D. F-P E. D-R

Four of the following five are alike in a certain way and 
thus form a group. Which is the one that does not belong 
to that group? 
A. D B. S C. V D. T E. A

How many persons are seated between R and T? 
A. ONE B. TWO C. THREE D. FOUR E. None of these
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Eight friends, P, Q, R, S, T, Y, V, and W are 
sitting around a square table in such a 
way that four of them sit at four corners 
of the square, while four sit in the middle 
of each of the four sides. The ones who sit 
at the four corners face the centre, while 
those who sit in the middle of the sides 
face outside. * P who faces the centre sits 
third to the right of V. * T, who faces the 
centre, is not an immediate neighbour of 
V. * Only one person sits between V and 
W. * S sits second to the right of Q, Q 
faces the centre. * R is not an immediate 
neighbour of P.

आठ कमत्र, P, Q, R, S, T, Y, V, और W एर्

वगाकर्ार मेज रे् चार ोंओर इस प्रर्ार बैठे

हैं कर् उनमें से चार वगक रे् चार ोंर् न ों पर

बैठे हैं, जबकर् चार प्रते्यर् रे् मध्य में बैठे

हैं। चार पक्ष। चार ोंर् न ों पर बैठने वाल ों

र्ा मुख र्ें द्र र्ी ओर है, जबकर् भुजाओों रे्

बीच में बैठने वाल ोंर्ा मुख बाहर र्ी ओर

है। * P, कजसर्ा मुख र्ें द्र र्ी ओर है, V रे्
दायें से तीसरे स्र्ान पर बैठा है। * T, ज 

र्ें द्र र्ी ओर उनु्मख है, V र्ा कनर्टतम

पड सी नही ों है। * रे्वल एर् व्यखि V और

W रे् बीच बैठता है। * S, Q रे् दायें से दूसरे

स्र्ान पर बैठता है, Q र्ा मुख र्ें द्र र्ी ओर

है। * R, P र्ा कनर्टतम पि सी नही ों है.
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Eight friends, P, Q, R, S, T, Y, V, and W are 
sitting around a square table in such a 
way that four of them sit at four corners 
of the square, while four sit in the middle 
of each of the four sides. The ones who sit 
at the four corners face the centre, while 
those who sit in the middle of the sides 
face outside. * P who faces the centre sits 
third to the right of V. * T, who faces the 
centre, is not an immediate neighbour of 
V. * Only one person sits between V and 
W. * S sits second to the right of Q, Q 
faces the centre. * R is not an immediate 
neighbour of P.
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Who sits second to the left of Q? 
A. V B. P C. T D. Y E. W

What is the position of T with respect to V? 
A. Fourth to the left B. Second to the left 
C. Third to the left D. Third to the right 
E. Second to the right

Four of the following five are alike in a certain way and so form 
a group. Which is the one that does not belong to that group? 
A. R B. W C. V D. S E. Y

Which of the following will come in place of the question mark 
(?) based upon the given seating arrangement? WP TR QW RS ? 
A. YT B. VY C. VQ D. PY E. QV

Which of the following is true regarding R? 
A. R is an immediate neighbor of V B. R faces the centre
C. R sits exactly between T and S D. Q sits third to left of R 
E. None is true
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E is 10 Km to the west of I. C is 5 Km to the south of E. A is 15 km to the east of C. F is 10 km to the 
west of H. B is 5 km to the west of A. H is 5 km to the north of E. D is 15 km to the west of C. G is 5 km 
to the west of F    E, I रे् पकिम में 10 कर्मी है। C, E रे् 5 कर्मी दकक्षर् में है। A, C रे् पूवक में 15 कर्मी है। F, 
H रे् पकिम में 10 कर्मी है। B, A रे् पकिम में 5 कर्मी है। H, E रे् 5 कर्मी उत्तर में है। D, C रे् पकिम में 15 

कर्मी है। G, F रे् 5 कर्मी पकिम में है

Which of the following are not sitting in a straight line?
A. HEC B. CBA C. IFC D. GFH E. DCB

What is the direction of G with respect to A? 
A. South B. North C. North – West 
D. South – West E. South – East

B is in which direction with respect to C and at what 
distance? 
A. 10 km, West B. 5 km, East C. 10km, East 
D. 5 km, West E. none of the above 
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Six persons M, N, O, P, Q and R have different heights. N is taller than P. M is taller than R but shorter than 
P. At least one person is shorter than R. The number of people taller than Q is same as shorter than O. Q is 
taller than M. छह व्यखि M, N, O, P, Q और R र्ी ऊों चाई अलग-अलग है। N, P से लोंबा है। M, R से लोंबा है, 

लेकर्न P से छ टा है। र्म से र्म एर् व्यखि R से छ टा है। Q से लोंबे ल ग ों र्ी सोंख्या O से र्म है। Q, M से
लोंबा है।

. How many persons are taller than Q? 
A. 0 B. 1 C. 2 D. 3 E. 4

Who among the following is the shortest in the 
group? 
A. O B. R C. P D. N E. Q

Who among the following is taller than N? 
A. P B. R C. M D. Q E. O
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar

सात कमत्र सात अलग-अलग शहर ों, झाोंसी, 
कदल्ली, ऊटी, कशमला, अमरतसर, लखनऊ और

भुवनेश्वर र्ा दौरा र्र रहे हैं, लेकर्न जरूरी

नही ों कर् इसी क्रम में ह ों। झाोंसी जाने वाला

व्यखि, लखनऊ जाने वाले व्यखि रे् ठीर्

ऊपर बैठा है। अमरतसर जाने वाले व्यखि और

झाोंसी जाने वाले व्यखि रे् मध्य रे्वल द 

व्यखि हैं। ऊटी जाने वाला व्यखि अमरतसर से

ऊपर है लेकर्न अमरतसर जाने वाले व्यखि रे्

ठीर् ऊपर नही ों है। कशमला जाने वाले व्यखि

और ऊटी जाने वाले व्यखि रे् मध्य रे्वल तीन

व्यखि बैठे हैं। वह व्यखि ज भुवनेश्वर जाता है, 
वह कशमला जाने वाले व्यखि रे् ठीर् ऊपर है।

कदल्ली र्ा दौरा र्रने वाले और भुवनेश्वर जाने

वाले व्यखि रे् बीच रे्वल एर् व्यखि है
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

How many people are visiting between the one who visits 
Ooty and the one who visits Bhuvneshwar? 
A. One B. Two C. Three D. Four E. None

Which of the following city is visited immediately before 
Delhi? 
A. Ooty B. Amritsar  C. Delhi  D. Bhuvneshwar  E. 
None

Which of the following cities are there between Jhansi 
and Amritsar? 
A. Shimla, Bhuvneshwar 
B. Ooty, Shimla 
C. Lucknow, Delhi 
D. Lucknow, Ooty
E. None of these
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Which of the following condition is correct regarding Amritsar with 
respect to Bhuvneshwar? 
A. There is one city between Bhuvneshwar and the one who visits 

Amritsar 
B. Bhuvneshwar is immediately above the one who visits Amritsar
C. All the above are true 
D. The one who visits Amritsar is the person immediately above 
Bhuvneshwar 
E. None of these

Which of the following cities is there exactly between Delhi and 
Jhansi? 
A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of 
these
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. If all the letters in the words are arranged in reverse alphabetical order and then after all the 
word are arranged in alphabetical order from left to right, then which of the following word is 2 
nd from the right end thus formed? यकद शब्द ों रे् सभी अक्षर ों र् उले्ट वर्ाकनुक्रम में व्यवखस्र्त

कर्या जाता है और किर सभी शब्द ों र् बाएों से दाएों वर्ाकनुक्रम में व्यवखस्र्त कर्या जाता है, त 

कनम्नकलखखत में से र्ौन सा शब्द दायें छ र से दूसरे स्र्ान पर बनता है?

A. PLG B. UND C. TNK D. NIC E. None of these 

In each word every consonant is changed to the previous letter in English alphabetical series 
then how many words have at least single vowels? प्रते्यर् शब्द में प्रते्यर् व्योंजन र् अोंगे्रजी

वर्कमाला रे् कपछले अक्षर से बदल कदया जाता है, त कर्तने शब्द ों में र्म से र्म एर् स्वर ह गा?

A. One B. Two C. Three D. Four E. None of these
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In each of the word if we interchange the first letter with third, then the first letter with the 
second one, then which of the following is the third word according to English dictionary 
(answer in terms of original word)? प्रते्यर् शब्द में यकद हम पहले अक्षर र् तीसरे से, किर

पहले अक्षर र् दूसरे से बदल दें, त अोंगे्रजी शब्दर् श रे् अनुसार कनम्नकलखखत में से र्ौन सा

तीसरा शब्द है (उत्तर मूल शब्द रे् सोंदभक में)?

A. NKT B. BEA C. DNU D. ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what 
will be the value if we add all the place values of first letter in each word thus formed? 
यकद हम दूसरे अक्षर र् तीसरे से और किर पहले अक्षर र् तीसरे अक्षर से बदल दें त इस

प्रर्ार बने प्रते्यर् शब्द में पहले अक्षर रे् सभी स्र्ानीय मान ों र् ज डने पर क्या मान ह गा?

A. 30 B. 35 C. 40 D. 45 E. None of these
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.If we add all the letters place value in each word then which of the following word 
number is completely divisible by 9? 
यकद हम प्रते्यर् शब्द में सभी अक्षर ों र्ा स्र्ानीय मान ज ड दें त कनम्नकलखखत में से र्ौन
सी शब्द सोंख्या 9 से पूर्कतः कवभाकजत ह गी?

A. BEA B. NKT C. DNU D. ICN E. None of these
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar

सात कमत्र सात अलग-अलग शहर ों, झाोंसी, 
कदल्ली, ऊटी, कशमला, अमरतसर, लखनऊ और

भुवनेश्वर र्ा दौरा र्र रहे हैं, लेकर्न जरूरी

नही ों कर् इसी क्रम में ह ों। झाोंसी जाने वाला

व्यखि, लखनऊ जाने वाले व्यखि रे् ठीर्

ऊपर बैठा है। अमरतसर जाने वाले व्यखि और

झाोंसी जाने वाले व्यखि रे् मध्य रे्वल द 

व्यखि हैं। ऊटी जाने वाला व्यखि अमरतसर से

ऊपर है लेकर्न अमरतसर जाने वाले व्यखि रे्

ठीर् ऊपर नही ों है। कशमला जाने वाले व्यखि

और ऊटी जाने वाले व्यखि रे् मध्य रे्वल तीन

व्यखि बैठे हैं। वह व्यखि ज भुवनेश्वर जाता है, 
वह कशमला जाने वाले व्यखि रे् ठीर् ऊपर है।

कदल्ली र्ा दौरा र्रने वाले और भुवनेश्वर जाने

वाले व्यखि रे् बीच रे्वल एर् व्यखि है
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar
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How many people are visiting between the one who visits 
Ooty and the one who visits Bhuvneshwar? 
A. One B. Two C. Three D. Four E. None

Which of the following city is visited immediately before 
Delhi? 
A. Ooty B. Amritsar  C. Delhi  D. Bhuvneshwar  E. 
None

Which of the following cities are there between Jhansi 
and Amritsar? 
A. Shimla, Bhuvneshwar 
B. Ooty, Shimla 
C. Lucknow, Delhi 
D. Lucknow, Ooty
E. None of these
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Which of the following condition is correct regarding Amritsar with 
respect to Bhuvneshwar? 
A. There is one city between Bhuvneshwar and the one who visits 

Amritsar 
B. Bhuvneshwar is immediately above the one who visits Amritsar
C. All the above are true 
D. The one who visits Amritsar is the person immediately above 
Bhuvneshwar 
E. None of these

Which of the following cities is there exactly between Delhi and 
Jhansi? 
A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of 
these
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In each of the word if we interchange the first letter with third, then the first letter with the 
second one, then which of the following is the third word according to English dictionary 
(answer in terms of original word)? प्रते्यर् शब्द में यकद हम पहले अक्षर र् तीसरे से, किर

पहले अक्षर र् दूसरे से बदल दें, त अोंगे्रजी शब्दर् श रे् अनुसार कनम्नकलखखत में से र्ौन सा

तीसरा शब्द है (उत्तर मूल शब्द रे् सोंदभक में)?

A. NKT B. BEA C. DNU D. ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what 
will be the value if we add all the place values of first letter in each word thus formed? 
यकद हम दूसरे अक्षर र् तीसरे से और किर पहले अक्षर र् तीसरे अक्षर से बदल दें त इस

प्रर्ार बने प्रते्यर् शब्द में पहले अक्षर रे् सभी स्र्ानीय मान ों र् ज डने पर क्या मान ह गा?

A. 30 B. 35 C. 40 D. 45 E. None of these
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.If we add all the letters place value in each word then which of the following word 
number is completely divisible by 9? 
यकद हम प्रते्यर् शब्द में सभी अक्षर ों र्ा स्र्ानीय मान ज ड दें त कनम्नकलखखत में से र्ौन
सी शब्द सोंख्या 9 से पूर्कतः कवभाकजत ह गी?

A. BEA B. NKT C. DNU D. ICN E. None of these
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 

आठ व्यखि अर्ाकत् S, T, U, V, W, X, Y और Z 
एर् से आठ तर् आठ अलग-अलग मोंकजल ों

पर रहते हैं। भूतल सोंख्या 1 है और शीर्क तल

सोंख्या आठ है लेकर्न आवश्यर् नही ोंइसी

क्रम में ह । X कवर्म सोंख्या वाली मोंकजल पर

रहता है लेकर्न तीसरी मोंकजल पर नही ोंरहता

है। Z, X रे् ठीर् नीचे रहता है। Z और Y रे्
बीच द से अकिर् व्यखि रहते हैं। S और Y 
रे् बीच छह व्यखि रहते हैं। V, W रे् ठीर्

ऊपर रहता है लेकर्न T रे् नीचे रहता है। U, 
X रे् ऊपर नही ोंरहता है। W, Y रे् ठीर्

ऊपर नही ोंरहता है। .
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 
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Who lives on floor number five? 
(a) U (b) S (c) Z (d) T (e) None of these

How many persons live between W and X? 
(a) One (b) Three (c) Five (d) Two (e) None of these

Who lives immediate above V? 
(a) Z (b) T (c) Y (d) W (e) None of these

Four of the following five are alike in a certain way based on the 
given arrangement and thus form a group. Which is the one that 
does not belong 
to that group? 
(a) Y (b) V (c) T (d) X (e) W

Who lives on 2nd floor? 
(a) X (b) S (c) U (d) Z (e) None of these
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusion I and II follow
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How many C’s are there in the alphabetical series which are immediately preceded by 
a vowel and immediate followed by consonant? वर्कमाला श्रोंखला में ऐसे कर्तने C हैं

कजनरे् ठीर् पहले एर् स्वर और ठीर् बाद में एर् व्योंजन है?

(a) One (b) Two (c) Three (d) More than three (e) None of these

If all the vowels are dropped from the series, then which alphabet will be eighth 
from the left end? यकद श्ोंखला में से सभी स्वर ों र् हटा कदया जाए, त र्ौन सा वर्क

बाएों छ र से आठवाों ह गा?

(a) C (b) B (c) N (d ) F (e) None of these

How many total vowels in the alphabetical series? वर्कमाला श्रोंखला में रु्ल कर्तने स्वर

हैं?

(a) Five (b) Ten (c) Three (d) Nine (e) None of these
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How many Vowels are there in the alphabetical series which are immediately preceded by 
a consonant? 
वर्कमाला श्रोंखला में ऐसे कर्तने स्वर हैं कजनरे् ठीर् पहले एर् व्योंजन है?

(a) One (b) Two (c) Four (d) More than Five (e) None

If the position of the 1st and the 14th alphabets, the 2nd and the 15th alphabets, and so on 
up to the 13th and the 26th alphabets, are interchanged, Then which alphabets will be 7th 
to the right of 10th alphabets from the right end? यकद पहले और 14वें अक्षर, दूसरे और 15वें

अक्षर और इसी तरह 13वें और 26वें अक्षर तर् र्ी खस्र्कत र् आपस में बदल कदया जाए, त 

र्ौन सा अक्षर दायें छ र से 10वें अक्षर रे् दायें से 7वाों ह गा?

(a) A (b) C (c) N (d)B (e) None of these
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There are eight notes of different 
denominations i.e. 
1,5,20,50,100,200,500,2000 rupees which 
are arranged in a circular arrangement 
facing towards the centre not necessarily in 
the same order. 50 rupees note is arranged 
second to the right of 200 rupees note. Odd 
denominations note will not be immediate 
neighbour of 200 and 50 rupees note. There 
will be less than 100 rupee denomination 
note to the immediate left and immediate 
right of 100 rupees note except 1 rupee 
note. 100 rupee note is second to the left of 
5 rupees note. 2000 rupees note is second to 
the left 100 rupees note.

कवकभन्न मूल्यवगक रे् आठ न ट हैं अर्ाकत

1,5,20,50,100,200,500,2000 रुपये ज 

एर् वरत्तार्ार व्यवस्र्ा में र्ें द्र र्ी ओर

मुख र्ररे् व्यवखस्र्त कर्ए गए हैं जरूरी

नही ों कर् इसी क्रम में ह ों। 50 रुपये रे् न ट

र् 200 रुपये रे् न ट रे् दाकहनी ओर

दूसरे स्र्ान पर व्यवखस्र्त कर्या गया है।

कवर्म मूल्यवगक र्ा न ट 200 और 50 रुपये

रे् न ट र्ा कनर्टतम पि सी नही ोंह गा. 
1 रुपए रे् न ट र् छ डर्र 100 रुपए रे्

न ट रे् ठीर् बाएों और तत्काल दाएों 100 
रुपए मूल्यवगक रे् न ट ह ोंगे। 100 रुपए र्ा

न ट 5 रुपए रे् न ट रे् बाएों से दूसरे नोंबर

पर है। 2000 रुपए र्ा न ट बाएों 100 रुपए

रे् न ट रे् बाद दूसरे नोंबर पर है।
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There are eight notes of different 
denominations i.e. 
1,5,20,50,100,200,500,2000 rupees which 
are arranged in a circular arrangement 
facing towards the centre not necessarily in 
the same order. 50 rupees note is arranged 
second to the right of 200 rupees note. Odd 
denominations note will not be immediate 
neighbour of 200 and 50 rupees note. There 
will be less than 100 rupee denomination 
note to the immediate left and immediate 
right of 100 rupees note except 1 rupee 
note. 100 rupee note is second to the left of 
5 rupees note. 2000 rupees note is second to 
the left 100 rupees note.
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Which rupee note will be arranged to the immediate left of 50 
rupees note? (a) 100 (b) 2000 (c) 500 (d) 5 (e) None of these

Which rupee note will be arranged to the third to the right of 5 rupees 
note? 
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these

What will be the sum of note which is immediate left of 50 rupees note 
and immediate right of 500 rupees note? 
(a) 2100 (b) 550 (c) 700 (d) 2200 (e) None of these

Which denomination note are between 1 and 100 rupees note, when 
counted clockwise from 1 rupee note? 
(a) 5 and 20 (b) 50 and 100 (c) 200 and 2000 (d) 1 and 500 (e) None of 
these 

Which rupee note will be arranged to the third to the right of 2000 
rupees note?
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these 
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If all the digits of numbers are arranged in ascending order within the number, then which of the 
following is lowest number? यकद सोंख्याओों रे् सभी अोंर् ों र् सोंख्या रे् भीतर आर ही क्रम में

व्यवखस्र्त कर्या जाता है, त कनम्न में से र्ौन सी सबसे छ टी सोंख्या है?

(a) 975 (b) 649 (c) 834 (d) 563 (e) None of these

If 1st digit of highest number is divided by 2nd digit of 2nd highest number, then what will be the 
resultant? 
यकद सबसे बडी सोंख्या रे् पहले अोंर् र् दूसरी सबसे बडी सोंख्या रे् दूसरे अोंर् से कवभाकजत कर्या जाता

है, त पररर्ाम क्या ह गा?

(a) 2 (b) 3 (c) 4 (d) 5 (e) None of these

If 2 is subtracted from the every even digit and 1 is subtracted from every odd digit number of 
each number, which number among them will be lowest number? यकद प्रते्यर् सम अोंर् में से 2 

घटाया जाता है और प्रते्यर् सोंख्या र्ी प्रते्यर् कवर्म अोंर् सोंख्या में से 1 घटाया जाता है, त उनमें से

र्ौन सी सोंख्या सबसे छ टी सोंख्या ह गी?

(a) 834 (b) 427 (c) 563 (d) 649 (e) None of these
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What is addition of 3rd digit of highest number and 2nd digit of lowest number? सबसे बडी सोंख्या रे्

तीसरे अोंर् और सबसे छ टी सोंख्या रे् दूसरे अोंर् र्ा य ग क्या है?

(a) 7 (b) 6 (c) 4 (d) 3 (e) None of these

If 1st digit of 2nd highest number is divided by 1st digit of lowest number, then what will be the 
resultant? यकद दूसरी सबसे बडी सोंख्या रे् पहले अोंर् र् सबसे छ टी सोंख्या रे् पहले अोंर् से

कवभाकजत कर्या जाता है, त पररर्ाम क्या ह गा?

(a) 5 (b) 3 (c) 2 (d) 4 (e) None of these

If 1 is subtracted from each even number and 2 is subtracted to each odd number in the number 
5827936, then how many digits will appear twice in the new number thus formed? यकद सोंख्या

5827936 में प्रते्यर् सम सोंख्या में से 1 घटाया जाता है और प्रते्यर् कवर्म सोंख्या में 2 घटाया जाता है, त 
इस प्रर्ार बनी नई सोंख्या में कर्तने अोंर् द बार आएों गे?

(a) Only 7 (b) Only 5 and 7 (c) 1, 5 and 7 (d) 4, 5 and 9 (e) None of these 
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How many letter will be remain at the same position in the word ‘SURFACE’ when they are 
arranged in the alphabetical order from left to right? 

शब्द 'SURFACE' में कर्तने अक्षर समान स्र्ान पर रहेंगे जब उन्हें वर्ाकनुक्रम में बाएों से दाएों

व्यवखस्र्त कर्या जाएगा?

(a) four (b) Three (c) One (d) Two (e) None of these 
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There are five person i.e. P, Q, R, S and T. If Q is taller than R and S but smaller than T. S is 
smaller than T, who is not the tallest. Then who is the tallest person among all? 
पाोंच व्यखि हैं अर्ाकत P, Q, R, S और T। यकद Q, R और S से लोंबा है लेकर्न T से छ टा है। S, T से
छ टा है, ज सबसे लोंबा नही ों है। त सभी में सबसे लोंबा व्यखि र्ौन है?

(a) T (b) Q (c) S (d) P (e)None of these
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How many pairs of letters are there in the word “SENATOR” which have as many letters 
between them in the word as in alphabetical series? 

शब्द “SENATOR” में अक्षर ों रे् ऐसे कर्तने ज डे हैं कजनरे् बीच उतने ही अक्षर हैं कजतने कर्

शब्द में वर्ाकनुक्रम में हैं?

(a) None (b) One (c) Two (d) Three (e) Four
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Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R

आठ कमत्र A, B, C, D, P, Q, R और S एर् सीिी

रेखा में बैठे हैं (लेकर्न जरूरी नही ों कर् इसी क्रम

में ह ों)। उनमें से रु्छ र्ा मुख दकक्षर् र्ी ओर है

जबकर् रु्छ र्ा मुख उत्तर र्ी ओर है। दकक्षर्

और इसरे् कवपरीत)। Q पोंखि रे् कर्सी एर्

अोंकतम छ र पर बैठा है। C, Q रे् बायें से तीसरे

स्र्ान पर बैठा है। B, Q र्ा कनर्टतम पि सी

नही ों है। P, C रे् दायें से तीसरे स्र्ान पर बैठा है।

A र्ा मुख उत्तर र्ी ओर है। D, P रे् ठीर् दायें

बैठा है। D पोंखि रे् कर्सी भी अोंकतम छ र पर

नही ों बैठा है। R और B रे् बीच में रे्वल एर्

व्यखि बैठा है। P, R रे् बाएों से दूसरे स्र्ान पर

बैठा है। S, D रे् दायें से दूसरे स्र्ान पर बैठा है। P 
रे् द न ों कनर्टतम पि सी एर्-दूसरे रे् समान

कदशा र्ी ओर उनु्मख हैं। C रे् द न ों कनर्टतम

पि सी एर् दूसरे रे् कवपरीत कदशा र्ी ओर

उनु्मख हैं. S र्ा मुख D रे् समान कदशा र्ी ओर

है और A र्ा मुख R रे् समान कदशा र्ी ओर है
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Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R
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How many persons sits between D and A? 
(a) One (b) None (c) Three (d) Two (e) None of these

Who among the following pair sits at extreme ends ? 
(a) S, Q (b) D, Q (c) Q, R (d) S, R (e) None of these

Who sits third to the left of D? 
(a) R (b)B (c) Q (d) C (e) None of these

Who sits immediate right of B? 
(a) A (b) C (c) R (d) S (e) None of these

Four of the following five are alike in a certain way based 
on the given seating arrangement and thus form a group. 
Which is the one that does not belong to that group? 
(a) A (b) C (c) S (d) B (e) D 
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